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Maxwell
Helmholz
Vector potential, Scalar potential
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Dipole

Loop
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9. Parabora
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11.

1. Maxwell

(Magnetic field) vector
Maxwell

xH=J+oD/ot
X E =-oB/ot
B=0

D=p

H
E

11
™M T

B
D

J (Electric current density)

(Electric flux density)
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Hertz vector

Impedance,

EH EH

BD
VIS

(isotropic)

p (electric charge density)

(1-1) Ampere

(scalar)

(Displacement current)

(1-2) Faraday

(Electro-magnetic induction)
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(at my cottage)

(Electric field) vector,

(1-5)
(1-6)
(Magnetic flux density),
(permeability), (permittivity)

ob/ot
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(1-4) Gauss D p
(1-3)
(1-1) J+ o( D)/ot=0
(1-4)
J+ op /ot=0 (1-7)

(Continuity equation)

Boundary conditions
12 E1,H1, E2,H2

E1, H1, el pl

=5

A

E2, H2, €2, M2
12 0 I
1-1 J xH dS=[ JdS+ [ ob/otdS
Stokes J  xH dS =] Hds=(Hlt — H2t)| +(H1n — H2n).d
Ht H (tangential) Hn H (normal)
[ JdS+ [ oD/otdS = (J+0oD/ot).d It t
0 >0 (J +0ob/ot).d It > Jsl Js (surface current)
H H1t - H2t =Js
1-2 Elt-E2t =0
S, 0 1-4
El, H1, n el ul

E2, H2, €2, U2
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I Ddv =] pdv Gauss | D dv = D.ds
[ pdv = p .So
0~>0 Dln-D2n=p s ps (surface charge) poOd>ps
1-3 Bin-B2n=0
n
n x (HL-H2)=Js (1-8)
n x (E1-E2)= 0 (1-9)
n.(D1-D2) =ps (1-10)
n.(B1-B2) = 0 (1-11)
Poynting vector
\
(ExH)=- E( xH) + H.( xE) (1-12)
Maxwell
(ExH)=- EJ - 0o*/ot{1/2(c EE+ pH.H)} (1-13)
0*/ot{X} = oX/ot
\
v I ExH)ndS
+ [Vl {EJdv+o*/ot[V][ 1/2(¢ EE+ pHH)dv=0 (1-14)
nds
q E, B v F=q(E+vxB) F.v
Wm d(Wm)/dt = q Ev
q p pv=J
E.J =d(Wm) /dt (1-15)
E.J F.v Wm
1/2(e EE+ pHH) (field)
Wf=1/2(¢ EE+ p H.H) (1-16)
1-14
v I ExHyndS + o*/ot[V]] Wm+Wf)dv=0 (1-17)
\Y
\Y, \Y, ExH
Poynting vector
P=ExH (Watts/m”2) (1-18)



2. Helmholtz
(1-1) rotation
X xH = xJ+¢€ 0 xE)/ot
= xJ -¢ M [on2/ot"2H
Vector
X XH = ( H-( ) H

0
( YH+ xJ -gp.[or2/or2H=0

[ "2-¢p . (o/6t2]H=- xJ

[ "2-¢p.(a/o02]E=1/e . p + p .[o/otd

eNjwt
ofot 2 jw.
[ 2+k2]H =- xJ
[ 2+k2]E = e . p + jwpd

k=w.V (g p)

(Propagation constant)

[ 2+Kk2]H =0
[ 2+Kk2]E =0

Helmholtz (Wave equation)
3. Vector potential, Scalar potential Hertz vector
Potential

Vector potential, Scalar potential

(1-3) « ) B=0
B= xA
(1-2) ; X E = - oB/ot X (E+0A/ot)=0
0] x ¢ =0
E=- ¢ -0A/0t
(0} (scalar potential)
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(2-1)

(2-2)

(2-3)
(2-4)

(2-5)

(2-6)
(2-7)

Vector potential A

(3-1)

(3-2)
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(1-1) X XA=pyJ+ pyodb/ot = pyd+ e ofot(- @ -0A/ot)
x xA= ( A- ~"A
[ 2-¢p . (ofot)2]A=-p I + ( A+p e 0@ /ot) (3-3)
(3-2) ;E=- @ -O0A/ot (1-49) , D=p (- @ -0oA/ot)=p /e
e = -ple - (0A/oN) - € [ .(o*/ot) 20
[ "2-¢ep . (ofot)2] @ =-p /e +0o/ot( A+p e 0@ /ot) (3-4)
(3-3),(3-4) Lorentz
A+p e o /ot =0 (3-5)
Vector potential A Scalar potential @
[ "2-¢p (dfot)2]A = -pJ (3-6)
[ 2-¢p . (o/o)2]e = -p /e (3-7)
eMNjw 1) ofot2jw Lorentz A+jopue @ =0
H=1/p. xA (3-8)
E=-jw {A+1/k"2. ( A)} (3-9)
Lorentz
Lorents A o A=A+ ¢ ) XA’=
Vector potential A’ o Lorentz
A’ +pe O0p/ot= A+pe 0@ /fot+ N2y = MY =0, ¢ Laplace

Coulomb gauge

Vector potential A’ A’ =0 Lorentz 0 /ot=0
[ "2-¢€ M (O/OY2]A=-pJ + pe 0@ /ot
[ "2]e =-p /e
A,’ (p A’(p
(3-1),(3-2)

Hertz vector N
A
n= A/(jwpue) (3-10)
Hertz vector
Lorentz
n+e¢ =0 (3-11)
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Helmholtz :
[ 2-¢ep(o/oy2]1 N = -1Ujwe J (3-12)
H = joe. xI (3-13a)
E = n +kx2an (3-13b)
Helmholtz
[ 2+kr2]10 =0 (3-14)
k2= w"2e | (3-15)
Laplacian ; ~2 = (8/0x)"2 + (8/0y)"2 + (0/0z)"2
M=c. X(X) .Y(y) .Z(2) c
[([d/dx)"2]X /X + [(d/dy)*2]Y /Y + [(d/dz)"2]Z /Z = -k"2
[([d/7dx)"2]X /X = - k172, [(d/dy)*2]Y /Y = -k272, [(d/dz2)"2]Z /Z = -k3"2
k172 + k2/2 + k3”2 = k"2
X(x) = e™(-j.k1.x)
M =c.ej(wt-klx-k2y-k3z)}
=c eNj(w.t-kr)}
r=(xy,z) k = (k1, k2, k3)
Phase velocity
C (Phase plane ) C=w.t-kr
0=w -kv v = dr/dt
vector k Vp
Vp = w/k =1/V (e p) (3-16)
k k

H = jwe. x1 =we kxc.ej(w.t-kr)}
E = n +kx2n = {~-(ck)k +k"2.c }..eNj (v .t - kr) }

Q) H, E k

(transversal wave)
2 H E
3 E H Zo= E / H =+ (/) (3-17)

(intrinsic impedance)
(4) Poynting vector ; ExH* = we .(kxc)*2.k
k



4. Green

Green

Green

r’ r
eMjw t)

[ "2+k2]A®M
[ "2+k2]e (r)

b ()
-p (r")/e

G(r, r?)

[ 2+Kk2]G(r,r*) =938 (r-1)
(delta function)
o (r-r’) =0 (r=/=r")
F(r”)
[ F(r’).d (r-r”) dv” = F(n).

G(r, r’) = G(R)

(d*/dR

e(-jkR) e"(jkR)
R=0 R=0 (Sink)
R=0 (Source)
- 1/41t  Green (4-8) (4-5)
Helmholtz

Ar) == p J((r’). G(r, r’)dv’
o =-f (1/e )p (r) G(r, r) dv”
Green
R=r-r’ R
[ 2+k2]1GR) =0 (R) (R=r-r”)
Green
R, ¢ 6) R
Laplacian

[1/R"2 d*/dR (R"2 .d*/dR) + k2] GR) = 5 (R) = 0

)
[D"2*/dR"2] (G.R) + k"2 (GR) = 0

G(R) = - 1/(4Tt R) .£*(~jkR)

A = 1/ (4m)f p I(r) /R eN-jkR) dv’

r

G(R)
GR) =

(R=/=0)

Hertz vector
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P(r)

(4-1)
(4-2)

(4-3)
(4-4)

(4-5)

(4-6)
(4-7)

(4-8)

GR)

(4-9)

(4-10)
Vp=- w/k

e’(-}kR)

(4-112)
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o = 1/ @mn)J (/e )p (r’) /R eM-jkR) dv’ (4-12)
nr= 1/ @Amnjwe)f JI(r’) /R .eN-jkR) dv’ (4-13)
R=r-r’, R= R

3-1.2,3-13ab

R =r-r’

RA2 =12 + 1772 -2r.r’.cos()
r>>r’ R (=) r-r’.cos(g)
1/R en-jkR) (=) 1/r.en(-jkr) .e”( jk.cos(€))

A(r) = p /(@mr) eN-jkr) <J[cos(&)]> (4-14)

QB> =] I() ek dv? (4-15)
<J [cos(9)]> J((r) e’(jkcos(g) )

r (r6.¢) ©. )
<J[cos(®)]> = <I[6, 9]>
Ar) = p /(4mtr) .eM-jkr). <J[0, ¢]> (4-16)
, ) r r

G(r) = 1/(41t r) .eM-jk.r) Green

@) = 1/ (4me r) eN-jkr).<p [cos(g] > (4-17)

nr = 1/ @mjwe ). er-jkr). <J [cos(E)] > (4-18)

n +k2n

3-13 H =jwe . x N E

(Aperture)
(1-8) nxHi=Js

nr = 1/ (@njwe r). eN-jkr). <J [cos(E)] > (4-18)
<J [cos(E] > =[ I n xHi.erjk. cos(g) dS (4-19)



2007/08/09 Osl

Ei n Hi Ei =n x Hi

ni(r = 1/ (dmjwe n.eN-jkn [ 1 Ei.eNj.k. cos(§)) dS

= 1/ (4mjwe r). eM(-jkr) . <Ei [cos(§)] > (4-20)

E = n +k2n
cos(g) =0
E(r,[E=1/2])=j/ (A r). eN-jkr). <Ei [0] > (4-21)
A k

A k=2m (4-22)

<Ei[0]>= [ 1J Eids
E(r, [¢) =1t /2] )

Dipole




<Z]
p

J=l<z] (-I/2<z<I/2)
z
Hertz vector

nr = 1/ @mnjwe r). eN-jkr). <J [cos(E)] > (4-18)
L& =0

(=) <zl () (kl<<1)
) =<z]. (L) /7 4t jwe ). e’-jkr).

<z] = cos(0).<r] - sin(6).<0]

<r] <6] r.o
r.o, e
Mr = (LI)/ @mjwe ) /r. er-jkr). cos(0)
ne = ()7 @mjwe ) /r.er-jkr). (- sin®))
Me = 0
H = joe. xTI
E = n +kxn
Hr=0
HO =0

Ho = (I)/ 41t . sin(0) .(jk/r + 1/r°2) . e7(-jkr)

Er= (L) 7/ (21 jw € ) .cos(6). (1/r"3 + jk/1"2) .eM(-jk.r)
EO = (1) 7/ (21t jw € ) .sin(B). /12 .e(-jk.r)
+jw (L) 7 41t . sin(®) /r. eM(-jk.r)

Ep=0

EO = joopu (LI) 7 41 . sin(®) /r. en(-jk.r)
= jk(I)/4mt V (u /g ). sin(0) /r. er(-jkr)
Ho =jk(ll)/ 41t . sin(B) /r. er(-jk.r)

vV (u /e ) =120m
/A
EO = j.60m (I]) .sin(0) /(A 1). eN-jkr)
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(5-1)

<J [cos(&)]> = <z]lf er(k z.cos(®) dz =<z]. I. 2.sin (kI/2.cos(0) ) / (k.cos(B))

(5-2)
(5-3)
(5-4)
(5-5a)

(5-5b)
(5-5¢)

(5-6a)
(5-6b)
(5-6¢)
(5-7a)

(5-7b)
(5-7¢)

(5-8a)

(5-8b)

(5-9)

(5-10)

10
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z=la, -la 0

1 @) =Im.sink(la- z ) (6-1)

z l.dz E6.dz Dipole
E6.dz = j.601 (1.dz) sin(6) /(A R). eN-jkR) (6-2)
>> 7z R=r-zcos ()
E0.dz = j.601t .Sin(0) /(A r). er(-jkr) . 1(z) .eM(jkz.cos (0).).dz (6-3)
z -la +la
EO. =j.601t .sin(®) /(A r). eN-jkr) [-1a, 1a]f | (2) .eM(jk.z.cos (B).).dz (6-4a)

= j.60.Im./r. eM-jk.r) .[cos (kla.cos (B)) — cos (kla) ]./ sin(0) (6-4b)

kla= 11 /2, 2la= A /2 (6-5)
| (z) = I..cos (k.2) (6-6)

EO. = j.60.1./r. eM(-jkr) .cos (1t /2..cos (0))./ sin(6) (6-7)
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7. Loop Antenna

a w

J=<¢’].1/2ma 8 (0" -1/2).5 (" -a) (7-1)
<¢] ©

r r’ a
cos (a ) =sin (0).cos (¢ - ¢”) (7-2)
R=r-asin () .cos (p - ¢7) (7-3)

A = 1/ (4m)f p I(r) /R eN-jkR) dv’

po.la /4 1/reN-jkr) [0, 2t ]f <¢’].e(jka. sin (8) .cos (¢ - ¢7) ). do” (7-4)
<@”] = cos (¢ - ¢”).<¢p] +sin (¢ - ¢7) sin (6) .<r] + cos (0) sin (¢ - ¢”) < 6] (7-5)
7-5 7-4 sin (p - @)
A(r) = <¢].M .|.a/4mt 1/rer(-jkr) [0, 2t ][ cos (p - ¢”) . e”(jka. sin (B) .cos (¢ - ¢7) ). do”
=<@]ju | .a/2.J[1](ka sin (8)).1/r.e™(-jkr) (7-6)
J[X) n
J[n](x) = /(21 j*n). [0, 21t ][ cos (n.o) . e j.kz .cos () ). do (7-7)

V@) [ [ p.<ol1/2ma &0 - m/2).8 (" -a) /R .eN=jkR) r’2.sin(0).dp”.do.dr”

12



ka<<1 J[1](ka sin (8)) (=)ka sin (0)
Ap = ju Ik.a"2 /2 . sin (0) .1/r.e”(-jkr)
Ar=A0=0
H=1/p. xA

E=-jw{A+1/k2 ( A}

Hr =]l k.a"2 /2 . cos () .1/r2 .e"(-jkr)
HO = - (ka)*2.1/4 . sin (0) .1/r .e/\(-jkr)
Hp=0

Er=0

E6=0

Ep = wka™2.y .1 /4 . sin (0) .1/r .e™(-jkr)

Hr HO Eo

8.1 ()

EO. = j.601t .Sin(B) /(A r). er(-jkr) [-1a, 1a]f | (2) .e™(k.z.cos (B).).dz

6=T1/2
EO. =j.601T /(A 1). er(-jk.r) [-la, 1a]f | (2).dz
=}.601T /(A 1). er(-jk.r) lole
lo z=0
le= [-lala]f I(z)dz /o

lo
2
E =j120mt /(A r)loh (V/m)
E le
Vo
Vo= E e V)
8.2 (Directivity)

E=1/re-jkr) D (0, 0)
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(8-1-3)

(8-1-4)

(8-2-1a)

13
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H=1/Zo<r] xE

Zo=+V (u /¢ )

Z0=3767 (Q)

1/r.e”(-jkr)
D(6 ¢)
D(6 ¢)
Field pattern, D (6, ¢) Power pattern D (6,¢) "2
® 6 O m 06 Tm/2 1

83 (Radiation power and Resistance)

Poynting vector
P= ExH* = <]x E "2/Zo = <r]. D(6,9) "2/ Zo /2
Wr r
Wr=[p=0,2nt]f [6=0,t]f] D(6,¢) "2/ Zo/r2.r"2sin (0).d0. do
= [o=0,2rt]f [6=0,1]] D(6,¢) "2/ Z0 sin(6).dO. do
= [ Iy D(6,¢) "2/Z0.dQ

Rr=Wr/ lo "2
dipole
EO = jk.(IN/41t v (u /¢ ). sin(0) /r. e’(-jk.r)
= .601T (L) .sin(B) /(A ). er(-jk.r)
D(6,¢) =601 /A (L) .sin (06) =jk(l)/4mt .V (u /¢ ).sin(0)

Wr=[p=02r]f [0=0,]f 601 /A .(L]) .sin (0) "2/ Zo sin (0) .d6. do

= 1 280 2(/N Y2 = 1/6m Zo. (kLIY'2

Rr=80.1t "2.(I/\ )2 = 1/61 .Zo. (k1)"2

84 (Gain)
Wo Wr
n=Wr/Wo
(0,9)
P=ExH*=x<r]. E(r0,¢) "2/Z0o=<r]. D(6,¢) "2/ Z0 /"2
(0,9) G(0,¢)
amt 2. E(rL6,¢) "2/Z0 =G (6,0) Wo
(0,9)
Wo (gain)

G(0,¢)=4m. D(0,0) "2/Z0/Wo

(8-2-1b)

(8-2-2)

sin (0)

(8-3-1)

(8-3-2)
(8-3-3)

(8-3-4)

(5-8a)

(5-10)

(8-3-5)

(8-3-6)

(8-4-1)

(8-4-2)

(8-4-3)

14
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=Wr/Wo.4nt D(6,9) "2/ Zo/Wr
=n. D(6,0) "2/Z20 / (U/4m) D(6,0) "2/ Z0.dQ
=n. E(r,6,0) "2 / (W/4n)[ [ E(r,0,¢9) "2.sin(6).do.de (8-4-4)

E(r,0,¢)= E(r)=<r].(1/r).e’-jkr)
G(6,¢)=n G(0,¢) =1(odB)

EO = j.60m (I]) .sin(0) /(A r). eN-jkr) (5-10)
G= E(r0o) "2/@Q/M4n) | E@06 ) 72.sin(0).dode
= sin (0)"2 /7 (/410 )f [ {sin (0)/'3) .d0.do

= 3/2 sin"2(0) (8-4-5)
85
eNw t
XH=J+ we E=Jo+(we +0)E (8-5-1)
XE=-jwpH (8-5-2)
Jo o (conductivity)
E oE
P =E x H*
(ExH*) =E. Jo*+ 0 E"2 +jw p H"2 - E2 (8-5-3)
E.Jo* =-0 EM2+jw (& EM2- pH2) + (ExH*) (8-5-4)

[ E.Jo*dv =-[ 0 E"2 dv + jw[ (¢ E2- p H2)dv + [ (ExH*)ndS (8-5-5)

Wr
lo
Z=R+jX (8-5-6)
lo, \Y
V=Zlo (8-5-7)
Wo = 1/2.Re( V.Io%) (8-5-8)
R=Ri+Rr (8-5-9)
Rr Ri



Zl
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Vo
z Vo, z
l=Vo/ (Z+2Zl) (8-6-1)
Z |
T | —> Zl
Vo
Wa
| 2= Vo/(Z+2zl) 2= Vo 2.2/ (Z+Z) "2
Z=R+jX
Zl z Zl=Z7*

Wa= Vo "2/ (4R) (8-6-2)

dipole

0
dipole
Vo = E.l sin (0) (8-6-3)
dipole

Rr = 1/61 .Zo. (k)2 (8-3-6)
Wa = Vo2 / 4Rr = 3\ ~2/81t / Z0.E™2. sin”2(0) (8-6-4)
dipole
Ga = 3/2 sin"2(0) (8-4-5)

16
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Wa= A "2/ (4 .Z0o)Ga .Er2 = A ™2/ (4m). vV (€ /y )Ga EM2 (8-6-5)
Vo = (zZ2+12zl). (8-6-6)
Vo.* = Z LI* + ZLLI* (8-6-7)
Zl
Zi=Z7Z*
8.7
Reciprocity
A B Lab Lba = Lab
1/r.e”(-jkr) Green
k? = -k
diipole
88 (effective aperture)
Wa
Wa= A "2 / (411 .Z0).Ga .E"2
= A2/ (@4m) Ga Er2/Z0 (8-6-5)
EN2/Z0 (W/m"2)
Ae
Ae =\ "2/ (41). Ga (8-8-1)
89

EIRP (Equivalent isotropic radiation power)
Pt (W) Gt

EIRP = Gt Pt (8.-9-1)

17



Pt Gt

1/Ld
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Propagation loss)
d (m)

P = EIRP /(411 .d"2) = Pt .Gt / (411 .d"2)

Wa=P.Ae =Pt.Gt.{A / (4m.d}2 .Cr

Wa = Pt .Gt /Ld .Gr
Ld

Ld= {7 @m.dy2=17{n.d/A P2

Nyquist
<Vn"2> = 4R k.T.B
B
Wn =kT.B

B=1Hz

No =k .T (W/Hz) = -228.6 + 10.Log (T)

Ts(0.0) —» Ga(0,0)

Gr Wa
(8-9-2)
(8-9-3)
(8-9-4)
(8-9-5)
( ),
(Noise temperature)
R 2 < A2>
(8-9-6)
Wn
(8-9-7)
No
(dBW/K) (8-9-8)
Ta
> N > + >
A
1-1m

18
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Ts(6,0) (6,0) ,n.Ga(6,p) n To
Ta
Ta=(1-71).To + nJ Ga(6,0).Ts(6,0).dQ /41 (8-9-9).
Wa
C =Pt .Gt /Ld .Gr (8-9-10)
Ta No
C/No = Pt .Gt /Ld .Gr / (k.Ta) (8-9-11)
B (Hz) C/N
C/N =Pt .Gt /Ld .Gr / (k.Ta.B) (8-9-12)
Parabola
0Q F (PQ = PF) (parabo;a)

ol "

[
T AL

<

B
k
Wi AB
Ei 4
EM)=j/ ). er-jkn).[ ]f EidS (4-21)
Ga=( E(r) "2/Zo)/ (Wf/ (@4 .r2))=(mD/A )24 9-1)

(Ref[1], 0.96-99)

19
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(m D)2 g

10.

o T

g=1/2-2/3

(Feeder circuit)

(feeder)
( ) ;
Zc y (
RF
Ir <«— I(X) «—
o TW Zc V(x)
X=0 X

V(x) = Vr.cosh(y x) + Ir.Zc.sinh(y )
I(x) = Vr/Zc.sinh (y x) +Ir.cosh(y X)
y =a +jp
B

V(X) =Vr/2 .(1+ Zc/Zr) eMy X).(1+ T .er(-2y X))
I(X)= Ir/2 (1+ Zr/Zc) eMy X).(1- T e -2y X))

(Reflection coefficient) T
I =(Zr-2Zc) / (Zr + Zc)

(Standing Wave Ratio SWR)
(1+ T eM-2y X)) SWR
S=(1+ 1 )Y/(1- T )

Zr) RF

(10-1a)
(10-1b)
(10-2)

(10-3a)

(10-3b)

(10-4)

(10-5)
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ZX)=VX)/Ix)=Zc. (1+ T e -2y X))/ (1- T eN-2y X))

RF Zc

Win RF Vo

Win= Vo/ (Zc+Z(x) "2 .Z(x)
r 2 .eMN-2a X))

= Vo "2/4Zc.(1-

(Matching circuit)

Za
R1 Zb Zb R2
Za Za
R1 Zb R2
Za, Zb
Za=-Z7Zb=1[+ -]1jv RLR2)
Zs Zr iB Zc
A /4

7r yAo Zs
X=0 X=A /4

(10-6)

(10-7)

(10-8)

R1,R2
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y =ip
V(x) = Vr.cos(B Xx) +Ir.Zcsin(B x) (10-9a)
[(X) = Vr/Zcsin (B x) +Ir.cos(B Xx) (10-9b)
X=A /4 Bx=2n /A AN/4=T1/2
Zs=27¢c"2/ Zr (10-10)
Zc =V (ZrZs) A /4
11. (antenna arrays)
2.15(dB) (mD/\ Y2

Antenna Array

dipole z
EO = joopu (LI) 7 41 . sin(®) /r. en(-jk.r)
= jk(I)/4mt V (u /g ). sin(0) /r. er(-jkr)

= K(0)/r. e(-jk.r) (5-8a)
He =jk(ll)/ 4m. sin(0) /r. er(-jk.r) (5-8h)
r’ =r-d.cos() (11-1)

<Et] = <6] K(0)/r. e’(-jk.r) + <0] K(0)/r”. er(-jk.r?)
= <0] K(0/r. en(-jk.r) { 1+ e”(jkd.cos(0)) (11-2)

22



2007/08/09 Osl

<Et] = <6] K(6/r. e(-jk.r) { 1+ e”(jkd.cos(0)) + e”(2jkd.cos(B)) + ,,, + e™((n-1)jkd.cos(6))
= <0] K(6/r. en(-jk.r) {1 - eM(n.jkd.cos(®)) } / {1 - e”(jkd.cos(0)) }
= <0] K(6/r. er(-jk.r) . M[n]( ) (11-3)
M[n]( 6)
M[n]( 6) = e[ (n-1)/2.jkd.cos(B))} .sin{ (n/2.kd.cos()) } / sin{(1/2kd.cos(0)) } (11-4)
6 =T1m/2

M[n]( 6) =n (11-5)
n n"\2 n n
1-1, Maxwell
2-1 2-2)
3-1
@ k
(2 H, E k
3 H E
(4) Zo= E / H/ =V (u/e)
4-1 Helmholtz Green G(R) = - 1/(41t R) .e™(-j.kR)
1)R=/=0 [1/R"2 .d*/dR (R"2 .d*/dR) + k"2] G(R) = 0
2R=0
[ (1/R) dv = - 41t
4-2 4-21
5-1
neE = ()7 @mjwe ) /r. er-jkr). (cos(®), - sin(®), 0) (5-5)
H=jwe . xT E-= n +k2n
6-1 2la 6-4
6-2
2la <<\
2= A /2
2= A
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-1 7-2 7-3

7-2  7-5

7-3 7-8

8-1

8-2

8-3

8-3

9-1

9-2

10-1 (10-8)

10-2 A /4

11-1 n d [

i.0 M[n](6)

11-2 M[n](6) 6=/2)
Broadside array

11-3 M[n](6) ©=0)
Endfire array
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